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MATHEMATICS 9*

C

A
0,
D B | A Gt y
_Ji/J/bﬁ‘du,{;Ju»Jl?u': 4.23:/?/1’
1860 1858 ¢ 1856 1854 Arthur Cayley introduced the “Theory of 1
Matrices" in :
4
:9,;/([0 Ny
3-by-1v 1-by-3 2-by-2 3-by-3 4 6 2
The order of matrix [Olis:
3
1 1 0
- . VLLE/JG' §2-0L-2.00
J5g e 4 i oo . o 4
dentity v/ Null Rectangular | Column | |, 1] is_____ matrix of the order
2-by-2:
t_ Nl S EIMIe S L
M*=-M t_ e 1 t — 13 N AN o .
W M =M M* = M"* =M | A square matrix M is said to be skew symmetric 5
if:
> Ny A A CAHAL L AE S
S ; ’ . " T
Null matrix Symmetric Skew Identity | For any square matrix A, A+A"is: 6
matrix ¢/ Symmetric matrix
AB (BA)! BtAt v AR AR =Pe ZamBud e e |
For two matrix A and B of same order (AB)*=?
$5ABL LB = [|wa=2
18 18 10 _ 18 -6 13 0 _[6 : .
[4]11 6 10 Hg 18] [10 _2] For A = [_1 2] andB = [5],AB will be: 3
e A 2]
3] [13] [-3] ¢ [-13] 51. 9
Product of [1 2] [_1] is
vzn./mcugf _6] Nl Led U x
4 3 AV -3 z2 £ 10
For what value of x, matrix[2 . ]is a singular?
S Ja bl .
B A R s P I A R
—c d c —d —c a ¢ dl | Adjoint of matrix[‘: Z] is
_ a by .
Adj A v At i _A A1 =?41A = [C d]JbLf( 12
4] |A] |A] |A] For any matrix A = [‘: Z] A"l =7
a=| 2 1 [ g 1)
7 5V 5 7 , ‘71 73 13
What will belalifA = | % .3
A-1p-1 Atpt Bt At B 1A 1y - - (AB)_1 =7“A£ A/)’BMTJ_JG‘/)L./:;J) 14
For two invertible matrices A and B,(AB)~! =?
2.by-2 1-by-1 1-by-2 v 2-by-1 L 2262 116 ) g
The order of matrix [2  1]is:
2 0
X e bl MG ;’[\/_ ]
/)t d’ﬂ) )’:C d}l ‘L.- ’ ’ - 0 \/E 16
Singular Unit Scalar v/ Zero [\/f 0 ]is called matrix
0 2
3-by-2 2-by-1 1-by-2 2-by-2 v (e ¥ S L ontuf | 17
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Which is order of a square matrix?
T2 1
_‘ag/)K..JJG'J}{."!fé[O 1]Jl§'
1-by-3 3-by-1 2-by-3 ¢/ 3-by-2 ) 1 3 2 18
Order of transpose of [0 1]is:
3 2 >
1 0 1 2 1 -2 | [ asdj [ |
2 1] [ 0 _1] [0 -1 ° v ! Adjoint of [1 2 ]iS' o
J 0 1"
—e X Y] [ Zl]d‘w}/
[x + 2y] [2x —y] vV [x — 2y] [2x + y] 2 - 20
Product of [x Y] [_1]is:
-La/,i/,x?n|2 6| =0/
-9 6 -6 9v ) 6 3 x 21
If | | = 0, then x is equal to:
— 1 2 1 0
2| R RY | B e[y Sl=l V),
0 2 0 2 2 2 2 0 -1 =21_M1 0 ; .
] IfX+[0 _1]—[0 1],thenX|sequal to:
sl 3 il il sl Pt Y 4 {0,+1,+2,43,...}
Real Inteaer Whole number | Rational | {0,+1,+2,+3,...}is the set of 23
number g v number
JE gfc du e e fla=a,Va€eR 24
Symmetric | Reflexive v/ Trichoromy Additive | a =a,Va € Risa/an property:
S u,c i 5 -LLL"//;lb'fcxflé a=b=b=a,Va,beR
Sym.r/netrlc Reflexive Trichoromy Additive | ¢ b = b = a,Va, beRrepresent property:
> < A ‘2% _ e e Ll o
Symbol "for all" is :
s S s gﬂ/dfadéu! o ,Tu;jé wé_g,ﬁnru: Naks .
Sign Index ¢ Base Nt?\r:;; In radical Va, n’is of radical:
el ng s J.?/J/LJ;U| . . , ,-u}'té Kﬂ%/f’a’uﬁ %ﬂ,ﬁg/ ’8
Sign Index Base v/ Nt%r;g In radical ¥a, ‘a’is of radical:
n Vab =25»mn € Z* sab € RS
ny\/pn b\an ab)™ VaVb v i ’ 29
Varipr Vbrar (ab) Va a,b € Rand mn € Z*thenVab =?
K_"}Uvd/ ‘.’Lat"ll-p’/ W.:J"a“",nﬁéu_ai
T SNINC, - o In the exponential form "a™", n is called of
|L§M ‘ ; ,r:g:;’i}”goﬁer Ueia il exponentF:) T 30
ndex of W Base of ‘a' None
power of ‘a of 'n
v
aeR — {0} Ga® =1, LI"aws
R— R =0 - = 31
v aeR —{a} ae ¢ For a number"a”,a® = 1, when:
1
3 - o 8 _E
2 Simpliest form of (i) *is:
_ 125 —
S é" u"}’t/ u’gf{ _Lat'mf’{u& b{.‘/bﬁdf}/;
Natural 7 Complex | Every real number is also a number: 33
Integer Irrational v
[ =7 [
+v/—1 /=1 V=iv Vi ' i =2 e3¢ 34
In complex numbers i =?
-3 ((—)\5
1 1 iV i . S U Gl ) S
The valus of(—i)° is .
—4i -3¢ +(4i —3) —4i 43 4i + 3 _ L e eJiAi -3 5
Conjugate of 4i — 3 is
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. ‘fj ) ) J/cu:ui J}EKJ){.gLJUJlZ =a+ bi ..,ng%{..,g
d%:reb i UInA&B 7 I
imaginary Real v/ Both A&B | Noneof | The sum of a complex number Z = a + bi and
these its conjugate is a number:
3 3,2 3 3
Sl I B RV o .
8 8 9 9
x7/? X7y x7 x i/ Vx 39
Write V/xin exponential form:
guf /Gﬂi/)’/‘l-zﬁ
46 43 43 Vazy (= 40
V4 Ve v Write 4%/3with radical sign:
Ndw’(f oy 1 , e EeEE |
one o 3 3 . .
these 3 In 3/35the radicand is:
1
_4 5 ‘v 5 25\z _ 42
5 4 5 4 16 T
5 4 4 5 — 4iv/ —5— 4 54 4 _ ¢ SRR
The conjugate of 5 + 4iis:
.39
—i v i -1 1 _ -+ S| gy
The value of i°is:

i I TV O P (N R e N . E,

- u - -< U N 45

a complex a negative a rational a positive Every real number is:

number ¢/ integer number integer

. . ) ) L
—2abi 2abi —2ab v 2ab '%7_’”&0&(1[)(1 ti )/‘I&I 46
Real part of 2ab(i + i?) is:
3 3 ) oy R U3+ 24|,
Imaginary part of —i(3i + 2) is:
1 (e SobU e b T s Lrtud
{1,\/7, E} {0,1} {0,—1} {0} v Which of these sets have the closure property w.r.t | 48
addition?
; \ _¥s - B s P
S| AldA U A dig” o Y A e g

Multiplicative | Multiplicative Additive Additive Name the property of real numbers used in | 49

Inverse Identity ¢/ Inverse Identity (_ E) x1=_.

2 2

LGS _ xX<y= Jz < 0.1

None of Xz =Yyz xz>yz Vv xz<yz 50
Ifx,y,z€R,z<0,thenx <y=
these —
R of z-c=na > bla < bla = b{iJ~sa,b € R/
4 3* ey Ju S I

Multiplicative |  Additive Transitive Trichotomy ‘el et | 51

bholds is called:

u&(;/’)r/’l/’ Jﬁu"bt/:; Pl Jﬁ&/ﬁ 2k ;/&d/b‘ild/!/{;fd@lﬁ;ug
APrime | Anlrrational | A Rational A Natural A non-terminating, non-recurring  decimal | 52
Number Number v/ Number Number represents:

u’m%i"jﬁr _4;_/5 u/%guu’(‘"/w
Abu Musa ) Ny first gave the idea of logarithm:

Muhammad e ﬂ;ﬁr/ oy e

Al John Napier Bri 32 Arestotle
Khwarzmi 199
v
. L -4
0.007610 | 0.000761¢ | 7.6100 7610 Y R T61X 1070 | gy
7.61 X 10™* in ordinary notation is written as:
SilP f/wu e }Qdﬂ ‘.’QWWK//W&Mouwé_uuu*g/gf
Al Jobsi B.Ljr i John Henry Which mathematician prepared logarithmic table of | 55
Khwarzami g Napier Briggs v/ | base 10?
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u’}/!;i J/Mb //’.::ub //dﬁ _u(/_l?é'- J;g({(‘?/(ﬂﬂ
Al Jobst Burdi v John Henry Antilogarithm table was prepared by . 56
Khwarzami g Napier Briggs
- - 64.3 6.43 X e Fr67140.0643
6.43x107* | 64.3x107* _ - . . [ 57
x 1072 107* v/ | scientific Notation of 0.0643is :
log, x anJﬁJ(Z/@JJl?n a* = yf'
log, x = lo =xVv a lo =a i i i 58
aX =Y Gay = logy Gx¥ If a* = y then its logarithm form will be:
0v 1 1 10 o - :9/5?{1%&15.79 59
The characteristics of 5.79is:
0 o 1 10 ¢ ' ' _‘am/,u,é__/ng‘l’/?uwuf 60
The logarithm of unity to any base is:
0 e 1 10 v et R P
Base of common logarithm is:
€xlo 1) =2
—log,nv nlog, 1 log,n —log, (l> 1 Ja (") 62
n) | log, (%) =7will be
0.4343 -0.4343 2.3026 v/ -2.3026 _ 6x10ge10 =7 | g3
log,10 =?will be
3.14 2.718 v 10 0 _ R A {2 P
The approximate value of 'e'is:
_ _ _ _ Jwa* =ni
a=log,x | x=logyanv | x=1log,a | a=Ilog,n 65
If a* = n, then:
yZi=x xZ=y z¥ =xV xY =z ) o Juy = log, x/1 66
The relation y = log, ximplies:
0V e 10 1 - -‘Lt'}-’a'/,’j,é K/K}Wl /,:Jlfiu’( 67
The logarithm of unity to any base is:
10 _1 0 1 v vfat'n .f!z?n:xd:ql,fld/(djfﬂé:,-w(f(ﬁ 68
The logarithm of any number to itself as base is:
1 o0 0.4343 v 0 loge = (e = 2.718) 69
lo A ==ddlog (%
log q logp +log q gp logp . (q) 70
—logp log q logq ¥V | The value of log (E)ISZ
logp P
P 4 _ _
log (5) v log q log(p — q) log (q) logp —logq = 71
N ; n
log(mn) nlogm v mlogn (logm)™ ) ”LL"%LJJ—’QO‘Q m 72
log m™can be written as:
logy ¢ log, b log.a v log, c 'LLL%JJ{%/IOQ" axlogeh | 43
logy, a X log. bcan be written as:
lOgZ y log, x lng 4 logz X L ?n/,l/,logy X 74
log, x logzy logy z logy z log,, xwill be equal to:
felonk 2x*y® + x2y? + 8x¢ 2
[ 4 4 2 8 What is the degree of the polynomial 75
2x*y3 + x%y% + 8x?
(—x—2)(—4 (x=2)(x+2) | (x+2)(x | (x—2)(x e x? —4 76
—2 v +2) —2 x2 — 4is equal to:
g u“bl,ﬁ’ u‘g%{ g}bl.' e b Jr‘f(j}//?(/; 77
Integer Irrational Complex | Rational ¢/ | Every polynomial is expression:
e —
If x = 3and y = —1then the value of will x3ybe:
(a + b)? (a—b)?—(a| (a+b)?— (a+ b)(a xdab=? 79
+(a—b)* | —b)? (a—b)’v | —b) 4ab=2will be:
(a—b)(@a® | (a+b)(@a® | (a—b)(a® |(a—Db)(a*+ —esza® — b3 80
—ab + bz) —ab + bz) +ab — bz) ab + bz) v a3 — b3is equa| to:
Irr:;’itof;]‘al Fe i3 J“( fjﬂﬁm@muﬁfu”té&uww&auﬁﬁ(%g)nw "uiu o
v Rational Natural Whole ,‘gdll;(
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A/ An radical with rational radicand is called
surd:
—e 43 = 3V27 =2
~3v3 27 —53¢/ 3 A 82
V3 V27 V3 4+/3 — 3+/27 =7is equal to:
7 . _ —7
; 6 5 w £x(3+V5)(3-V5) =7 | g5
(3 ++/5)(3 —V5) =?will be
ehils F S - Ex rersion = SALi(4x + 3y — 2) 84
Inequation Equation Sentence P v (4x + 3y — 2)is an algebraic:
4 2., &
4o/ 3 P 1 -« - >n64x + 2x ij}//:‘K 85
The degree of polynomial 4x* + 2x2yis:
(a+b)(a?—ab + 5 (a—b)(a?+ab A
b?) v + b?) ‘e sza® + b3 86
(a —b)(a® + ab D (a —b)(a* —ab c | @® + bisequal to:
—b?) + b?)
L _1 _7 7 v - :9/,!/.(3 + \/E)(B - \/z) 38
(3 +v2)(3 — v2)is equal to:
a—+b - Lieaka + \/E(‘mﬁ»
Va—+b Va++b —a++Vb "— S i 89
v Conjugate of surd a + /bis:
1 1
—2b —%a 22b 2 2a 1 1. .‘é/"/'ﬁ a+b 90
a? — b? a? — b? a‘=b a? — b? — — —js equal to:
a-b a+b
aZ_bz
el
a—bv a+b (a + b)? (a — b)? 42p? atb | 91
is equal to:
a+b
a+b a—bv a? — b? a’? + b? _:‘L/'U'(\/E-I_\/E)(\/__\/E) 92
(Va + vb)(va — vb)is equal to:
3x —3a 3x+3a—xy|3x+xy—ay| 3x—3a+ ?w@/’um;}*é‘/ﬁ +y)(x —a) 93
—xy—ay | —ay -3y xy—ayv | (3+ y)(x — a)are prime factors of:
c Ly AENE 69X — 12xy
—4y*v 4y® 16y? —16y* What will be added to complete the square of9x? — | 94
12xy?
27 (* 2 —_
x? —7x + 12 has factors:
2x — 7y)(5x | (2x +5y)(3x | 2x —3y)(5x] 73St AL 10x% — 4lxy +21y% | o
3y )V | +7y) —7y) None of these| 10x2 — 41xy + 21y?are:
_ _ o 2 _
x+2,x+3 x+6x—1 X=2,x-3 x+1,x—6 - gremix® —5x+6 97
v The factors of x2 — 5x + 6are:
(2x — 3y),(4x>—-9y?) | B (2x +3y),(4x2+9y%) | A . s s
(2x—3y),(4x?  bxy | o | Qu+3y), (47 —6xy+ | . B GALIELE 2Ty g
+9y?) v 9y?) Factors of 8x° + 27y~are:
(x — o e 2
1), Bx +2) (x —1),(3x (x+1),(3x (x+1),(3x Y drezl3x% —x — 2 100
v —2) +2) —2) Factors of 3x2 — x — 2are:
(@?—2b%),(@*+2b3) | 5 | (a—b),(a+b) (a? A
v + 4b?) - dreizla* — 4b* 101
— 2 4 4qpn-
(a — 2b), (a® + 2b?) D (a—=Db),(a+ b)’—(i}lbz) c | Factors of a* — 4b*are:
Ly GVand i ,J6/9a? — 12ab
—4b? 4b* v 16b° —16b? What will be added to complete the square | 103
of 9a? — 12ab?
W byl Jx? +4x +md Led S Um
16 4v -8 8 Find m so that x2 + 4x + mis a complete | 104
square.
(x —4y),(5x — 3y) ‘ B (x + 4y),(5x + 3y) ‘ A 105
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.y Qa2 L5x% — 17xy — 12y?
5x —4y),(x+3 D (x—4y),(5x+3y) vV C —_—
( »)( y) i Y Factors of 5x% — 17xy — 12y?are:
1
3x+—),<9x2+3 _1 2 1
(342 | (Bx-Y). (o +342) |,
+ x_z) v -t Pz L27x3 — x—13 107
(3x + l) , <9xz _3 ) . Factors of 27x® — Zare:
x 2
1 D (3x——>,(9x —3+—2) C
x x
)
x . 7
H.C.F p(x)xq(x) v UA& B de[;uﬁ'ul fesIZL.CM 109
p(x) X q(x) HCF Both A & B | None of these | L.C.M=?
B g d 4 2 2
a+b a*—btv a® + b? a’? — b? _La_J"uLw»K_a —b%sa” —b 110
LCM of a? — b? and a* — b* is :
2024y | X xy Y el
2 — =2 | x-y? 7 o xy | x-y ooy
x? —y? xXe—=y Simplest form of — — —is:
xX=y Xty > c
N
x—2 X+2 x—2 x+2 ~+J‘(’c£//’}6/xx2_9 112
x+2 s
x+3 x+3 x—3 x—3 Simplest form of “="is:
_ o BAukk(4x? —12x+9)
(2x +3) (2x - 3) +x+3) | TGx=3) 113
The square root of (4x? — 12x + 9) is:
1 112 < CAliekx? — 1+ 4—3162
i(X—%)V i(X+2—) (x+—> (x+i) . 114
x 2x 2x/ | The square root of x2 — 1 + s
2 _ #ekn® a2 — p2g° a3 — 342
303y | 2020y — w-qv | PIC = Fukp®e? —p?qtapiq —pq 115
ra(®” —q*) | p°a*(p—q) | pa® —q —4®) | H.CF of p?q — pqand pSa? — p2qSis:
5xy 100x5y5 20x3y3 5x2y2¢/ e 20y sy P uM | e
H.C.F of 5x2y2and 20x3y3is:
x+2 X —2 x+3 x>+x—6 -97(”!;@&2 + X = 6ux = 204 117
H.C.F of x — 2and x? + x — 6is:
a? + b? (@—by | T T, e eesa? —ab+b2aa’ + 0 | g
v H.C.F of a3 + b3and a® — ab + bZis:
X —2 X2 _4 x4 2 x — 3¢ < f‘l"’uwxz—x—6ulx2—5x+6 119
H.C.F of x? — 5x + 6and x? — x — 6is:
a® —ab a? + ab + b? a+b a—bv ,9_(}"’1;Wa3 = b%ia® — b* 120
+b? H.C.F of a® — b%and a® — b3is:
i (X2 + 5x + 4usix? + 3x + 2x2 + 4x + 3
x+4)(x x+1)(x ‘LFH’;
5_1) ) x+3 5_2) ) x+1¢ |HCF of x2+4x+3, x2+3x+2and x2+ | 121
5x + 4is:
B, e e 2
15x%yz 15xyz 90x2yz ¢ 90xyz _Lg_J’ul.-.ﬂ!uKBOJ.cyzm45xy‘15x 122
L.C.M of 15x2, 45xyand 30xyzis:
a—b a*—b*v a? — b? a? + b? e et = bha® + b7 123
L.C.M of a? + b?and a* — b*is:
i g 35 20 Py L1561 e S LK UM
Product Ouotient v/ Difference Sum The product of two algebraic expressions is equal | 124
to the of their H.C.F. and L.C.M.
b 4a+b v 4a—b 4a - /L‘S'{gaza_bz + _3a1—b'u' 125
2 _p2 9a2-b2 2 _p2 2 _p2 ; ; a 1 _
9a b 9a b 9a b Simplify Y + " 2
s +5a-14  a+3
a-2 a+3 a+7 a7 ] -+ /W'Km 2| 126
a+3 a—=6 a—2 a=6 Simplify £2471% a3
> : 7 a?-3a-18 a-2
a+ a— 1 3-p3 | a’+ab+b?
J— s l/a -
aZ + b2 aZ + b2 a—b a+b - AP T T2 127
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. .. a®-b%®  a’+ab+b?_
Simplify a*=b* "~ q2+p2
s 2x+y . X
EV X y x - /W!{( Ty — 1) - (1 — m) 128
y x + X+ implify (23 _ 1) = (1 - X \=
* Y Y Simplity (x+ 1) ) (1 x+y)_
L oKa? —
a+1 a—1 +(a—- 1)V +(a+1) "L—d_/,'“’pga 2a+1 129
The square root of a® — 2a + 1is:
Lpurt  J I Yt + 644
4x? 16x*V —8x? 8x? What should be added to complete the square of | 130
x* + 647
1
1 1 +(x2+1 1 < Okt + =+ 2
i(xz——z) i(x——) (x +x2) i(x+—) - -/’m por 131
x x v x/ | The square root of x* + =+ 2is:
b#0 b=0 a#0v a=0 | RdsesGadfax +b =0 g
ax + b = 0is a linear equation, where
xS S5 SOl uf&/;ufu! V%JU{( < ;aﬁ‘y/)fplﬁl/“:‘fd)ﬁdpw
Solution Extraneous Root of None of | The root that does not satisfy the equation is called | 133
Set rootv/ equation these :
4 3 5 1 - R qd’&;_!;lxﬁ‘x - 2<0 134
In equationx — 2 < 0 has its solution set:
- L. . G S e el #
rete i s //'dﬁ. Thomas Who introduced the symbols of inequality? 135
Jobst Burgi | John Napier | Henry Briggs :
Harriotv/
S e tu ) .
e 14 ¥n f¥3 — 4x < 11eblr Foulof e i
y —— —2 -8 Which one is the solution of the inequality 3 — 4x < | 136
None of 4 112
these/
d//?:’"”}?.:abl/@l s 3 . )
e 2 S T Lred, e g ja.uugc_/m{ld/cu:<:>‘sg2u:&uw/ -
Linear Inequalitye” Equation A statement involving any of the symbols <, >, <or
Equation qualtty Ay a >is called:
Identity
e Solfer FL-2 < x < 3ils dx =
3 ov 3 -5 Rt CSESEAE T 15
2 x = __is asolution of the inequality —2 < x < >
x> 10 x <10 x < 10¢/ x>8 _ R e Y
If x is no longer than 10, then:
95243, 1600003k ¢ o1 S L B1 748 23
c>1600 | c<1600¢/ | c¢=1600 ¢ <1600 | If the capacity ‘c’ of an elevator is at most 1600 | 140
pounds, then:
*TZ<0 i 2<0 | 3x+5<0 | x>0 _ M SL e dx =0 gy
v x = 0is a solution of the inequality:
W, 1% I | _ sl LE DB | gy,
The point (=2, —3) lies in quadrant:
L » 54 s plnl S L 143
One Two Three Fourv/ There are quadrants in a plane.
x- ¥ y- I d/JJf(. é/!/u ~<‘_d"!;u1-(2,0) L3 144
X-axisy’ y-axis 1st quadrant | 2nd quadrant | Point (2,0) lies in ;
Gk . < Cn02) &
x4f y- 4 1st quadrant G The point (0,2) lies: 145
X-axis y-axis v 2nd quadrant
F = 26‘ + F 9 C 9 c 9 -Ladl’juymﬁ_zggu/sdﬁmu:*dﬁ
5 _ 2 _? _ e Relation between degree celsius and degree 146
32v | =gtm32 | =5F 432 | =5F 732 | nrenheitis:
0.5 35 2.5¢ 2 L AZ A gy
How many acres are there in one hectare?
2 | 1v 3 | 4 EST BT s s | 148
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Two lines can intersect only at ___ point:
iy » o s (LS BB 149
One Two ¢/ Three Four How many lines intersect at one point only?
-1-1 | @D -1) | @D A TG = Ly + 1) = (004 450
If (x—1,y+ 1) = (0,0), then (x, y)is:
(1,1) (0,0) v (1,0 0,1) #2453, 0) = 00| 45
If (x,0) = (0,y), then (x, y)is:
IV v I I | _ o e F UL (2,-3) 8 | g,
Point (2, —3)lies in quadrant:
WV, I v I | _ . R OLG (=3, -3) 8 | gq
Point (—3, —3)lies in quadrant:
5 4 3 ) :LL/.'_/.y?ny =2x+1x =2/ 154
If x = 2, y = 2x + 1thenyis:
(0,1) (2,2) 1) 12) v . S lhgd /Ly = et oo | g
Which ordered pair satisfies the equation y = 2x?
'Lau“}‘cbt‘éb}ﬁ/f <<<<<<<< ads L
5 4 2 3v A triagnle is formed by non-collinear | 156
points:
= ity i U= o A closed figure-;ﬁslﬁ;}r-w;;)ﬁfﬁge’bnwoﬁﬂ/{w 157
Triangle v/ Straight line | Parallelogram | None of these collinear points is called.
- bﬂ/zf v 1 If three-;gi?tl:fl};: on thaéjsé;i[’ﬁri@ﬁ?wﬁ 158
collinear non-collinear parallel unparallel these points are called:
V2V 2 1 0 - -‘L- J‘Uuyué(]:,l)ul(o,())b@ 159
Distance between points (0,0)and (1,1)is:
2 V2V 1 0 - - : J*’UGQ‘/}K(OJ){)I(LO)MEJ 160
Distance between the points (1,0)and (0,1)is:
-1-1 | ©D w0 | anv | 220008 | 46,
Mid-point of the points (2,2)and (0,0)is:
(1,1) 00 | 2-2v| @2 . - B2, m 22208 | g,
Mid-point of the points (2, —2)and (—2,2)is:
Hadior | LRG| Ao 00 mena S0 L e
None of Equilateral . T ; ) . 163
Scalene Isosceles | A triangle having all sides equal is called:
these v
ﬁcw?’ pong | e | o Qv Sl LB | e
t?]gieo Equilateral | Scalene v Isosceles | A triangle having all sides different is called:
S . e s
Sz % 3l . . v
: na : 165
Confj’ruent Equal Approximation | Correspondance The sign "="is used for.
Ju 2F =il S el |
Congruent | Perpendicular ¢/ | Correspondance None of these Lis the symbol of:
L » B4 se gl Ll 167
One Two Three v/ Four A triangle has angles.
:CL'_t'}’iJ}f KU1 01 L ek
360° 180° v 120° 60° The sum of internal angles of the 168
triangle is :
iugéu;l;bir_u:w»
4 3 2 1v How many lines can be drawn through | 169
two points?
S » i Sy L TS oLl el
Congruent Peroendicular | Correspondance | None of these If two angles of a triangle are congruent, 170
v erpe P then the sides opposite to them are:
s & ‘ e85 ZsUd ‘ K et ‘ -~ Lnhsf Al Loy | 171
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Non-parallel | Parallel sides | Diagonals v/ None of these of a parallelogram bisect each other:
sides
i [ e . o gln L?*Cu.hl.ﬂt;u:_ug
. Parallelogram . Opposite sides are congruent in a: 172
Triangle v Rhombus Trapezium
Dia /(;nals o - =t of rectan I;uzirt z(«))nwr;;{_médzw 173
g./ Heights Bases None of these | —— g g '
7 5 2 3V Aplrgle  Lab g,
The triangle has medians:
d{gf:.ufu! _‘Lt“n/’_&/tdﬁfé_ug/;ﬁgl?//%/’uu’(
S A 73 7 The centre of a circle is onthe right bisectors of each 175
i i f its :
Radius Chords v/ Diagonal Noneof |OTIS___
these ]
) /,!/,/;;u /’/U; /,l/,/fu.’.: vtgt'/(:j uﬁ‘ur"_/bb{!.vtd}/
Two equal Two Thréé e“ ual Three A line bisector divides the line segment into 176
v unequal g unequal parts:
k’ijub/ﬁ . - ’ - _‘Lt'/}fa_ L Lseirl$osf
Mid point " =+ f.“’/ u:(fébj’ ' Line bisector of a line segment passes its 177
v Edge Any point None point —
d}l/“vvéb,xbjuﬂat“né19/,:_,&%6)/LbJ};’.u{'}?,ﬁj&/
-}!// - 1/&]"{' J Lﬁuﬂ{u{( e btrdeldl | 178
Mid point | Endpoint | Vertex¢/ | Anypoint | Any point on the right bisector of a line segment is
equidistant from its..... points.
How many mid points a line segment has?
b » 7 7 The of circle ét)ziﬁ:;;ﬁtf biis:;t/;ris‘g;‘a:ﬁjb 180
Radius Chords Diagonal Center v/ of its chords.
L m J 5 sl A Ll ks
Concurrent > 7 The perpendicular bisectors of the sides of a triangle | 181
v Radius Chords Diagonal are
Ugu’d}u . ,.A’)’M/G N & 9 (* . &
Loyl =7 oy ¥ _e i s et L 7 ek L
Isosceles Equilateral Right Scalene A triangle havin Ltwo sides congruent is called: 182
v d Angled g g g '
y e Jf:" . -L(}M/ ﬁgoog}'Jﬁ{J?/}(f:ug
04 83 Lweiing : e is | 183
. Rectangle A quadrilateral having each angle equal to 90°is
Rhombus Trapezium Parallelogram _
v called:
s g . o . . S a
= Corcudat B Ju Ny b f Lol UsF Lk 184
Parallel v Collinear Congruent | The right bisectors of the three sides of a triangle are:
FEY \ 5 , L LeleBuigis
none of N . The altitudes of an isosceles triangle are | 185
four three Two ¢/ —
these congruent.
(s 4 Lbﬁu’!aﬁﬂﬂbw!dﬁLAQU5/£bﬁu/ﬁﬁug
Lot E— .
= o Right- = ~£x0 | 186
Median | Perpendicular | . ., | BISECtor | A point equidistant from the end points of a line-
segment is on its:
) ét " u; -ujﬁﬁ@J&UW’JLU“ LL&IL@&}LCWI&;«@._{I
Two Five Four v Th;ee congruent triangles can be made by joining the | 187
mid-points of the sides of a triangle.
S =t L
Lﬂ; J:V & &b Jf.; «U,f!d“_/ J@/}J;@]}LCWUMJ!?
- bisect at . . . — 188
None of right angle trisect Bisect / | The diagonals of a parallelogram each other.
these
1:1 1:2¢ 1:3 1:4 B I e S pofii sl ek | 189
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The medians of a triangle cut each other in the ratio:
yﬁu,&f&ﬁ_,uuuzﬁm_ba?)O",,u.,{urgwéwugurdu
120° v 90° 60° 30° fe | 190
One angle on the base of an isosceles triangle is 30°.
What is the measure of its vertical angle?
1155k usu'dflﬁ 76 EuoyrSala _Jn w,,mfm,fu;i‘cw,gﬁ
Acute Isosceles Right Equilateral | If the three altitudes of a triangle are congruent, then | 191
Angled Angled v the triangle is:
,:5!)!’5:(«: d;!%!;ﬂ? oISl u:’wd;tﬁ -d/n .:th"*u;umf L?‘;le/wéw._g//l
Acute Right Equilateral | lsosceles o | T W0 medians of a triangle are congruent then the 192
Angled Angled g triangle will be:
Find the values of a, b, ¢ and d which satisfy the matrix :wﬁfsu/;/at,uénd)zéfwuﬁ Sdsicbea
equation: [a+c a+2b)_10 -7 [a+c a+2b _[0 -7 1
—1 ‘;d—26 3 21d1 c—1 4d 6l — 13 22d
; ; —_ _ L ANt — tyt — LY, IIB f
Verify that if A = [0 1]and B = [2 0]’ then: (A9t = 4 (ANt = ASEDAIB [ 1 a= [0 1]/' 2
t\t — Yo g3
Verify that if A = [1 2]and B = [1 1], then: (BY)t = B (BY)' =& G448 = [ 0] oA = [ ]/ 3
0 1 2 0 B
11 : —2
IfB—[_l]thenfmdB+[3 ] B+[ ] EAT P [ ]
Ifc=[1 —1 2]then find(—2)C. (—2)C :gEesinC=[1 -1 20| 5
_ ~. - 10 7 11 —2] -

If A = [1 _Z]and =0 7], then find: 24t — 3B¢ g (# JuB = [—3 8] 44 = [3 4 ] 4 6
3 4 -3 8 2A" — 3Bt
-7 10 2 4 1 b1~
q slagsis =2 +3 A

it Pl=2[2 H+s[y L) thenfindaandn. |7 e 11=25 dl+3ls W 7
a -é()’"u“" b

[l 2 1 i tis | A+ S E 35 inB =L N awa=[t 2|4
If A= [O 1]and B = B 0], then verify that A + A%is &y [2 0] * 0 1. 8
symmetric. —e M S LA

_[Lo2 _not : At A- s 35 =]2 Naa=t 24
IfA= [0 1]and B = [2 O]’ then verify that A — A®is skew & UM [2 0] * 0 1l 9
symmetric. ce NS E A

A _Lt i tis | B+ s£ 3 3B =1 Noaa=[t 2|4
If A= [O 1]and B = ) 0], then verify that B + B‘is & UM A [2 0] * 0 1. 10
symmetric. PR ) 1
Find the product: [1 2] [g] [1 2] g Eefeds | 11

1 2 1 2 ;
Find the product: [—3 0 ‘[4 5 ] [—3 0 ‘ [4 5 e Sed s | 12
0 -4 0 -4 :
6 —1 _ 6 —1 5_

: . .8 512 =2 8 5112 -3z ~
Multiply the matrices: ¢ 4] [_4 42 [6 4] [_4 42 e Sed s | 13
Find the determinant of the matrix: B = ; _32] B = B _32] :g{,»k’d’j”njs 14
Find the multiplicative inverse (if it exists): :(ndc'//')ér}"uﬁ'd/ 15

+3 3 4
_ JJanbuK/ua

[0, =] 3] thenfindaandb. ’ PRt P 16

AT

_ oL e sp=[2 7Y La=[% 34
ifa=[> JlandB=[> ~% thenfind:Z(24-3B) = 1% Sl - 1o 17

1 0 -2 -1 3 ~(24-3B)

: 12 1 14 -2 2 1 14 2|7 - R
Find the value of X, if [3 _3] +X= [_1 _2]. [3 _3] +X= [_1 _z]ﬁ-”.{(}VX,Jo 18
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Define scalar matrix. Give an example. el gy JE A | 19
Define multiplicative identity matrix. Give an example. _SJeliigE oy S8 Nsdes | 20
Define singular matrix. Give an example. el g oy i et | 21
Define non-singular matrix. Give an example. LEJelilgE oy et g | 22
Define equal matrices. Give an example. ey i sl | 23
Express the given decimal in the form s, where p,q € Zand | 0.3 = :q # 0p,q € Z,é;é/;wuﬁyd/gﬁﬂd,m 24
g#0:0.3=0.333..... 0.333......
Express the given decimal in the form %, where p, q € Zand q#£0sp,qEZ 55 kS Jgfm A2 55
q # 0:0.23 = 0.232323...... 0.23 = 0.232323......
Express the given recurring decimal as the rational number | . ,iw@ g # 0p, g6 25 16 L wPtssusn f
gwhere p, qare integers and g # 0:0.67 1 0.57 26
Simplify: 3/16x%y5 S16x%y5 Uy AFShaine S| 27
Simplify the given radical expression: 5\/% 5\/? ShraFrs L | 28
Simplify the given radical expression: 3/—% /—2— Jetfoel B by | 29
Use rules of exponents to simplify the given expression and | =i U =F D b U F T Sfid L ed
write the answer in terms of positive exponents: = x,_,;y Y’ Y s 30
Xy
x 2
Simplify by using laws of indices: (125) ; (%5) S o i lusd| 31
Simplify by using laws of indices: 3:52311 3:53)_311 i e i lued | 32
Use laws of exponents to simplify: (2x5y~*)(—8x3y?) (2x5y~4) (—8x~3y?) ;é/}',_}wfuf,,?gugj 33
x y_l —4 -3 x y—lz—‘l- o . e . .
Use laws of exponents to simplify: (T;O) (W) "é/ff_u.u@:u Zu=i| 34
Simplify: 52° + (5%)3 2. (52)3 ;4% | 35
Simplify: (x*)2 + x3,x # 0 2 +x3" x#0:24| 36
Find the value of xand y if x + iy + 1 = 4 — 3i. ax+iy+1 =4_3iﬁér,p;,gb(yﬂ,x 37
Simplify and write your answer in the forma + bi:(v/5 — 3i)? (V5 —30)? &£ &t FSa+bi| 38
Simplify and write your answer in the forma + bi:(2 — (2 -3)(B—=2i) : &2k FSa+ bi 39
3))(3 — 2i)
Simplify and write your answer in the forma + bi:l_—fi 1_+Zl 2 rFla+bi| 40
Simplify: 3/81y-12x~8 Y81y—12x-8 . 2% | 41
Simplify: \/25x10ny8m J25x10ny8m .25 42
. . /5 . . 275,000 275,000 T

Express in scientific notation: YL Yo u:(i/u*v 43
What replacement for the unknown in given will make the 10P = 40 ?gﬁc/ﬂuw@i‘gd‘j@(f}w a4
statement true? 107 = 40 T
Find the value of x: log, %8 log, %8 iGEebeed | 45
Find the value of x: log 5 12tothebase2v/2 log 5 12tothebase2V2 et =i | 46
Find the value of x: logg; 9 = x loge; 9 = x e =ddx | 47
Find the value of x: loge, 8 = > l0ges 8 == et =idx | 48
Write into sum or difference: log 3\/z log i/z:ﬂ/ui‘f&'}/'taﬁﬁfz/w 49

@ 2) (22)3 A fSohe AL F k)| 50
Write in the form ofasmgle Iogarlthm 2logx —3logy 2logx —3logy &qufd///b@’w 51
Write in the form of a single logarithm: log 5 + log 6 — log 2 log5 +log6 —log2 :zj_iu:yw?/w”,, 52
Find the value of x: loge,5 5 = ix logezs 5 = ix :"é(kfaafd/x 53
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Find the value of x: log x = 0.0044 log x = 0.0044 :é(,w;‘gd/x 54
Calculate: logs 2 X log, 81 logs2 x log, 81 :"4{(}1,/_%; 55
Calculate: logs 3 x logz 25 logs3 x log; 25 :Zpk=f | 56
5 5 . . N
Reduce the rational expression to the lowest form: % %:édju:‘ﬁ@} AP | 57
Reduce the rational expression to the lowest form: 2‘(";’;:’3 2‘(1;’;:3:5‘1};@%@} AP | 58
_ 2_ . . -
Reduce the rational expression to the lowest form: % %zé‘jiuﬁgf’q] AP | 59
_ W 2y3_c 4
Evaluate ©2 =% forx = 4,y = 2,2 = —1. X=4y=-27=-1628+8EX 2| 60
xyz xyz
- - . . 15 4 15 4 o “ o p 7

Perform the indicated operation and simplify: 3y 3o o T s SIESS L | 61
Perform the indicated operation and simplify: (x2 — 49). 5;:72 (x2 — 49). ix:;:;f/}’éfée; 62
Express the surd in the simplest form: Z V128 %3\/128 Ap B A7 | 63
Simplify: 3/243x5y10215 *[243x5y10,15 5L 2% | 64
simplify: = V125 =VA25 :£ | 65

o 1 1 1 1
simplify: (V2 + %) (V2 - %) (V2+3)(V2- %) £ | 66
Simplify: (Vx + /y) Vx — /¥ (x + ) (x* + y?) Vx + W Ex = D+ 92 +y?D) &2 | 67
If x = 4 — V17, find_ i =4—V17/1| 68
Factorize: 144a® + 24a + 1 144a? + 24a+1 :&65 | 1

2 2
Factorize: ‘;—2 -2+ Z—z % -2+ % E6F | 2
Factorize: 12x2 — 36x + 27 12x2 — 36x + 27 édf“ 3
Factorize: 3x% — 75y? 3x2—75y2 :Z5F | 4
Factorize: 128am? — 242an? 128am? — 242an? ;&% | 5
Factorize: 3x — 243x3 3x —243x% (£S5 | 6
Factorize: x2 — 11x — 42 X2 —11x— 42 :£57 | 7
Factorize: 5x% — 16x — 21 5x2—16x —21 :Z£57 | 8
Factorize: 4x2 — 17xy + 4y? 4x2 —17xy +4y2 257 | 9
Factorize: 125x3 — 216y3 125%3 — 216y3 :£67 | 10
Factorize: 25m?n? +10mn +1 25m*n®+10mn+1 :&£67 | 11
Factorize: 1-12pq +36p°q’ 1-12pq+36p°q° ‘©¥7 | 12
Define remainder theorem. “E G| 13
Define factor theorem. FEwlsie | 14
Find the H.C.F.: 39x'y’z , 91x°y®z’ 39x7V%z . 91x°V77 :;‘f(k"{}e!;u 15
Use; factorization to find the square root of the expression: Ax? _10x+9 BN eSF 2 16
4x° -12x+9
Use factorization to find the square root: 4x* —12xy +9y’ Ax? 1oy + Q2 et s | 17
. . 1 .
Use factorization to find the square root; x> —1+ —, (x#0) 1 :“épi#d AkeSE 20 | 18
4x x> =1+——, (x#0)

Use factorization to find the square  root: .

1, 1. .1 1., 1. 1, &mChrsiai

=X ==Xy +—Y =X =Xy +—Y 19
16 12 36 16 12 36

.3 x-2 25

Solve the equation: —-~=—=="= 3x x—2 25 ESSen-| 20

http://www.pakquess.com

Sir Abbas Gagra Contact # 0303 9300943

Page 12



http://www.pakguess.com/

Class 9t Guess

http:/www.pakguess.com Annual 2025
- -2
Solve the equation: XTB—XT =-1 x-3_x-2__, g per Seene | 21
Solve the equation and check for extraneous solution, if any: Yox—d-2-0 EE e S I m ZE F S s 22
Y2x-4-2=0
Solve and check: [2x+3|=11 ox+3=11 S rpageerS | 23
Solve for x:2|3x + 2| — 4 = 11 Z13x 2] —4 =11 e Fren | 24
Solve for x: |2x + 5| = 11 |2 + 5] = 11 :ZpqerFben- | 25
Solve the inequality: 3x + 1 < 5x — 4 3x+1<5x —4Zflen-F| 26
Solve the inequality: 4x — 10.3 < 21x — 1.8 4x —103 < 21x — 1.8 :ZSfSen- 4 | 27
Define a linear inequality in one variable. _E oy el S| 28
Define extraneous roots. E S| 29
Define an inequality. o Slen 4| 30
Find the value of m and c of the given line by expressing itin | =¢ (. , oy AL S y=mX+C S mlsleGe 6 a1
the formy=mX+C: 2x+3y-1=0 Lo
_ _ _ _ _ 2x+3y—1=0 ‘&
Find the value of m and c of the given line by expressing it in FES e Am ALl edmox -+ S mtsla e s 32
the formy=mx+c:2x-y=7 e
_ 2x =y =7""(
Verify whether the point (2,5) lies on the line 2x-y+1=0or 1%&%5"42X_y+1=0 S LSS EG AP 33
not (2.5)
Define an ordered pair. Give an example. _EJediE oy f S sa | 34
Define Cartesian plane. Ew stk 35
Find the distance between the pair of points: e Lo , .
Q 4 ) e b n LU nlbe
A(_41 '\/E) ’ B(_4’ _3) A( 4, \/E) ’ B( 4’ 3) r ’ 36
Find the length of the diameter of the circle having centre at Jﬁj”'“C( 2.6) BT 62 et O S B L
C(-3,6) and passing through P(1,3) . ’ v o 37
~EUPA7PP(L3)
Find the mid-point of the line segment joining the pair of i b 1 Sn 61 = LS Uiz £ b6
points: A(—4,9),B(-4,-3) 38
A(=4.9).B(-4.-3)
Define coordinate geometry. _Ew S xzaxy | 39
Define collinear points. -ébg/@w'cfur? 40
Define non-collinear points. -éui//“"tfbh"v]fﬂﬂi 41
Define isosceles triangle. «54/50/&@%%!6»3 42
What is meant by congruent triangles? sl ol —u¥ S| 43
What is meant by S.A.S postulate? Cesi e b | 44
Find k, given that the point (2,k) is equidistant from (3,7) | = g 1y /(3 7 +¥ (2 k) B g i AF 45
and (9,2) . UL
Define coordinate axes. FEy OB esis | 46
Define origin. FEw S| 47
Define collinear points. FEw e 48
Find the value of unknowns for the given congruent -éﬂ"”/’ﬁw{x . ()’”L‘auiﬁ'd&tf*éfd: 1

triangles.
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A
(5x +5)°
S —h 2
B sm-3D2m+6 C

Define the bisector of an angle.

Sl | 2

If the given figure ABCD is a parallelogram, then find x, m.

r)L"A/!ﬁ"Jm nlx ?néuﬁwd}!?b{! ABCD /ﬁuﬁféfd)
&

o

D C
(5m + 10)° 11x°
550
A B

Define the bisector of a line segment.

s | 4

Define the bisector of an angle.

S| 5

Which of the following sets of lengths can be the lengths of

etk Lo Uttt S UL £ i fs i

the sides of a triangle? te &

(@) 2cm,3cm,5¢cm .

(b) 3cm,4cm,5¢cm 2cm,3cm,5¢cm (@)

(c) 2cm,4cm,7cm 3cm,4cm,5¢cm (b)
2cm.4dcm.7cm (c)

3cm, 4cm and 7 cm are not the lengths of the triangle. Give
the reason.

c'-J«J}-u.wquJCMLwKRm A 4em “3em 7

<“£.‘>>L'u
Define congruent triangles. -é.@/%fuwff&‘” 8
Define similar triangles. oy e |9
Verify that the Ashaving the given measures of sides are | .. . z5 ctn | £ Jud_ g & oitd o £ etz | 10
right-angled: a=1.5cm, b=2cm,c=25cm
a=15cm . b=2cm.c=2.5cm
A ladder 17 m long rests against a vertical wall. The foot of | |, ¢ ., (126 rie 5 e Ziis$ssf I8 o b b 11
the ladder is 8 m away from the base of the wall. How high | - S8 Ld/(f LA L 0Oy g
up the wall will the ladder reach? $F e Ly Sgn G e sp§opd e gdsil 8m <
S’Jn
Find the value of unknown x in the given figure: :Sf;(":"”agd/x ,r}wu:ﬁfd; 12
J‘__| :.{2 cm
1cm
Find the value of unknown x in the given figure: :;Ljfpbfufd/x rk’b;ﬂf“‘fd} 13
4 cm
cm
Find the area of the given figure: :gf,qbf;/{ffd; 14
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3cm
6 cm

Find the area of the given figure: :;érkfg/{‘ﬁ&%} 15

4 cm
Find the area of the given figure: :"é,fkf,}/wﬁ&@’; 16

8 cm
4cm

Find the area of the given figure: :épbf;/t{ffd; 17

10 cm

16 cm
Define the area of a figure. ?+;u/y”c;/Kffd; 18
Define triangular region. Ea 5| 19
Define rectangular region. _Ew ] 20
Define altitude of a triangle. Sesl ol Qakeds | 21
Define interior of a triangle. Sesl p e cosilbads | 22
Construct a AABC, in which: U v SEAABC | g
mCA =3.6cm , mBC =3.9cm , MAB =4.2cm mCA =3.6cm . mBC =3.9cm . mAB =4.2cm
Construct a AXYZ, in which: 0 vt taxyz | %
m£Y =90° , mYZ=2.4cm , mZX =6.4cm m/Y =90° . mYZ=2.4cm . mZX =6.4cm
Define the incentre. S | 25
Define the circumcentre. Ea | 26
Define orthocentre. LE JEEATS st | 2T
Define centroid. EwJSap | 28
Define point of concurrency. _ébé)/'}d/ﬁ;(; 29
The three sides of a triangle are of measure 8, x and 17 | £ .5 “({\ 117 iy g oz Al Soun £ ete i | 30
respectively. For what value of x will it become base of a right ) ) T s
angled triangle? ?Ké_lgwmww,,dwsé‘,;

- ') .

What is meant by converse of Pythagoras theorem? S e A Jg 31
Define Pythagoras theorem? (S S 32
Define similar triangle? ‘-‘J/u;ﬂfu(u?‘f'wf 33
What is a cyclic quadrilateral? et Ve ol | 34
Define bisector of line segment? oS Sl | 35
The given figure LMNP is a parallelogram find value of m,n. g b S MNP L s 36
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P 8 N
55
4m+n
55
L 8m-4n M
If the given figure ABCD is a parallelogram, then x,m. ,J/r}mﬁfJm/nxnw‘»mdﬂ?uﬁABCDﬁ 37
D C
11
(5m+10)’
55
A B
What do you mean by H.S= H.S postulated. ?Luﬁ,wz}k;eé@, 38
What do you mean by S.A.S = S.A.S? st e PosoF=fiof | 39
What do you mean by S.A.S postulate? Ces e b P I 40
_[4+ 0 3 o g g =3 La=[t 9 i
fa=|" Jlo=|7, 2] then verify that: (DA)™L = | & & 15 ol =12 1
A"ip1 (DAY t=4A"1D"1s
1 2] (3 -1] _ Vo - _
If A= and B= , then verify that & g7 e
14 6] 12 -2] - B 3 -1 A 1 2 2
dj A) = (Adj =(d 2 -2 4 6
A(Ad A) = (Adj A)A = (det A)T. A(AdI A) =TAdi AJA = (def Al
1 2 3 -1 w . . -
If A= and B= , then verify that g Oud J q - 4
4 6] 12 2] - B 3 -1 A 1 2 3
-1 -1 2 -2 4 6
BB'=I1=B"'B. - ~_ _BB'=1=B'B
Solve the given linear equations by the matrix inversion | 4x + 2y =8
. 4x +2y =8 3x —y = é()’“‘u"’gfyulxaud/u‘ﬁféuﬂb 4
method: .
3x—y=-1
Solve the given linear equations by the matrix inversion | 4x+y =9 .3 .
. dx+y=09 3x—y= _s .éf}’”ﬂJ}lu!XquJ}@Luﬁb 5
method: _
—3x—y=-5
Solve by using the Cramer’s rule. Two sides of a rectangle | 3.5 UG £ S5 (2 F Swiv L S
differ by 3.5 cm. Find the dimensions of the rectangle if its r ) " Fee = : /: | 6
perimeter is 67 cm. YIS 2= A NI TIPS
_[3 2 _[2 4 . ) sy g |2 4 _[3 271 ¢
If A= [1 _1]and B = [_3 _5], then verify that: & Jud JB = [_3 _5] HA = [1 _1] i 7
(AB)t = BtAt (AB)t — BtAt
n 5_ 4n—-1 n 5_ 4n-1
Use laws of exponents to simplify: &2 Xs(gzrf)s()ss) (243) (1) X?gzrf)g()33) @) o i lued | 8
a+b b b+c NG xa\a+b x b+c xe\cta )
Show that: ( ) 1 X (?) X (x_a) =1 (F) X (F) X (x—a)1 =1SZek 9
Simplity, 2220 E0: RO
(180)2><(4) 3 x(9)4 (180)2%(4) 3 3 ><(9)4
2 1
Simplify: |Z12XG92 (2167 x(2s2 7| 1
(092 (04
f}(i))NE thhi ?iven equation for real x and y: (2 —3i)(x + =30 +yi) =4+i :ESSEysxfei | 19
ptq q+r p+q a+r )
simplify: ( ) (a—) +5(aPa’)P",a % 0 (Z_Z) (Z—q) +5(@Pa’ )P a £ 0 4| 13
a?m a’n a2t 22m
Slmp“fy ( {’+m) (am+n) (anH’) (at’+m) (am+n) (an+{’) ‘{ﬁ; 14
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an 3 a€ 3 [gm 3 an
Simplify: / /am /an 15
16 25 81 16 25 81 .
Showthat:7logE+510gZ+ Bézgsg—%():logZ 7logE+510gi+3logg=logZIjL,{cf.L“ 1
. . 0.678x9.01 0.678x9.01 o 5
Use log tables to find the value of: YIS oo & (,J""axjaud/d:g(f/() 2
Use log tables to find the value of: ¥/2.709 x 1/1.239 V2700 x V1239 :pireieulef 44| 3
3
Use log tables to find the value of: 2P oo ‘/_ el 4| 4
127X 24-6 127><
. (438)3+/0.056 (438)3+/0. 05 .
Use log tables to find the value of. “= === ST Zerede uldlel K| 5

The formula p = 90(5)1_gapplies to the demand of a
product, where q is the number of units and p is the price of

L) e qUAS e p = 90(5)To hr ¥ b § by s

o 2 e el sSSuraE | 6
one unit. How many units will be demanded if the price is Z 41800 ke ndd, 5“’"('19/ ORIEIC
Rs. 18.00? véu&éwu’y
Perform the indicated operation and simplify: x*+xy x+xy | x?
x%+xy x%+xy N x%—x y(x+y)'y(x+y) Xy~ 2y /‘jc«f}ié) 7
yx+y) y(x+y)  xy-2y _
If a+b+c=7and ab + bc + ca =9, then find the value | ;2 4 p2 L i 0b+bc+ca=9sa+b+c=7/
of a? + b? + c2. ) 8
_équch
If 2x — 3y = 10and xy = 2, then find the value of 8x> — o+ = (8x3 — 27y3 Jnxy = 22x — 3y = 10/
27y3. P 9
If a®> +b%+c*=45and a+b+c=—1, then find the | 4p + Jwa+b+c=—1 sa®+b%+c? =45 J
value of ab + bc + ca. . 10
_érk’bwju(bc + ca
If m+n+p = 10and mn + np + mp = 27, then find the Jemn+np+mp=27 sm+n+p=10 I
value of m? + n? + p2. . 11
_Eeeddm? +n? + p?
If (5x — =) = 6, then find the value of (125x% = ——) g il —Yis(sx—=)=6/| 12
5x ! 2125x3 ) aaall - 25x3 i 5x
If x = 2 ++/3, find the value of x — land (x A 1) -é(}**g’”’:uf(x — 1) Hlx — lixx =243/ | 13
V3-1 , V3+1 _ \/_+1
Determine the rational numbers a and b if FatEas ,»)Vu*" meamuj’uyfﬂ Aa-at bV3.J 14
a + bv/3. &
V2?2 JatrziVar 2 15
Simplify: NS Lzl &/
1 _ .55 16
Simplify: ——2— — T e o
For what value of m is the polynomial p(x) = 4x3 — 7x2 + | P(x) = 4x® =, #x + 2L L i/ dm S b 1
6x — 3mexactly divisible by x + 27 ?Kgfrfvwwﬁxz +6x — 3m
Find the value of k if the expression x° +kx®+3x— | 3. o s /¥ x 42 %3 +ka?+3x—4 2 )
4leaves a remainder of —2when divided byx + 2. ) ’ . 2
e ddkie -2
If (x — 1) is a factor of x> — kx* + 11x — 6, then find the | (k7,3 2, 56x3 — kx? + 11x — 664 2 (x — 1)
value of k. ' .l 3
Ered
The expression ¢x* +mx? —4 leaves remainder of —3and | = &/ /% 4(x+2) “'(x-1) Foxd v —4 & 2
12when divided by (x-1)and (x+2)respectively. _;jfrkwfgd/m WP IENE s 3P| 4
Calculate the values of /and m .
Factorize: x* + % -3 x* + x—14 -3:Z6%| 5
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For what value of kis (x +4) the H.C.F. of X* +x—(2k +2)

X%+ X —(2k +2) U’J'?'%fy’éu(x+4) L2306k

6
and 2x? +kx —12? % 2x% + kx —12
Simplify as a rational expression: Py -
1S AR
[x+l_x—1_ 4x . 4X } [x+1_x—1_ 4x 4x } £ 7
x-1 x+1 x*+1 x*'-1 x-1 x+1 x*+1 x*-1
Perform the indicated operation and simplify to the lowest :»é/;;ufxd;w(,_o;/f‘ﬂ}
form: x* —8x L 2x-1 x+3 ‘g oy 1 2 8
C2x%4+5x-3 X*+2x+4 x?-2x )2( —9X . X=2 Z(Jr
2X°+5X—-3 X" +2x+4 XxX°-2Xx
Perform the indicated operation and simplify to the lowest :»é/;;ufxd;w(,_o;/f‘ﬂ)
form: 2y2+7y—4; 4y" -1 2 2 9
3y?-13y+4 6y’ +y-1 2y +7y-4 4y -1
3y’ -13y+4 6y’ +y-1
Simplify as a rational expression: (B e
{x—l+ 2 }_{x+1+ 4 } p 10
Xx—2 2-x| [ x+2 4-Xx° {X_lJr 2 }_{X+1+ 4 }
X—2 2-X]| | X+2 4-x°
Find the values of ¢and m for which the expression | = ° & & =i & uuem sy 11
49x* —70x° +109x> + ¢x —m will become a perfect square. _‘2@&/&(49)(4 —70x> +109x° + /X —m
eH [oeX:] LONG QUESTIONS
:ér)’”&gf{oup
1 1y 2 5 1(1
Solve the equation: =| X—= [+==—=+=| =—=3X 1
q 2(6)363(2) 1/ 1) 2 5 1(1
I X== [+===+=| =-3X
2 6) 3 6 3\2
Solve the equation: 22X5=§—4 510, x;&—E FAS GO (O
X+ X+ 2% 2 5 2
=—— , X #——
2x+5 3 4x+10 2
Solve the equation: 2 1—EJFL, X#1 FAS SO (O
x-1 3 6 x-1 3
2x 1 5 2
—t—=—+—,x=%1
x-1 3 6 x-1
Solve the equation: 22 1\ X #+1 FAS SO (O
x"=1 x+1 x+1 4
2 1 1
—— = D E
X -1 x+41 x+1
Solve the equation: "B , X # =2 s Sl
3X+6 6 2x+4 5
2 1 1
==———— X#-2
3X+6 6 2x+4
Solve for x: |3_5x| ~1-2 |3_5x| _1_z :ér}v:,nf(u,u 6
4 3 3 4 3 3
Solve theinequality:2§x+§(5x—4) > —§(8x+7) 2§x+§(5x—4) > —%(8x+7) (G f A enl f 7
Solve the inequality: 3x9+2 — 2x3+1 > -1 3x9+2 — 2x3+1 >—1:Eflen-f| 8
Solve and check for extraneous solution, if any: v3x — 1 — | \/3x — 1 — 24/8 = 2x = 0 :ZF U f el 9
2v8—2x=0
Construct aAABC . Draw the bisectors of its angles and | 4ddi x5 L uim & Lt Ui dUi-et AABC
verify their concurrency: 221 10
m/B=75", mBC =4.2cm, mAB =3.6cm . .
m£ZB=75°, mBC=4.2cm, mAB=3.6cm
http://www.pakquess.com Sir Abbas Gagra Contact # 0303 9300943 Page 18
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Construct a triangle PQR. Draw its altitudes and show that
they are concurrent:

m<R =45 , mQR =3.9cm , mPQ =4.5¢cm

Lt oo S E G QBN L1t pop 24

mZR =45° , mQR =3.9cm , mPQ =4.5cm

Wt 11

Construct a triangle ABC. Draw the perpendicular bisectors
of its sides and verify their concurrency. Do they meet inside

the triangle? m~/B=60° , m£A =30° , mBC =2.9cm

Ao S EG w1 EE oot LU L 1 b: ABC b

m~B=60° , m£A =30° , mBC =2.9cm

?ug,bﬁﬁméwdl{ﬁwﬂ 12

Construct a triangle XYZ. Draw its three medians and show
that they are concurrent:

mZX =5.6cm, mYZ =3.4cm , mXY =4.5¢cm

B S EG AN EL bl el X7

mZX =5.6cm, mYZ =3.4cm, mXY =4.5¢cm

13

[e'XTeX:] LONG QUESTIONS

(R o0 38 I Gut ) cmbutuaiey

Prove that any point equidistant from the end points of a line
segment is on the right bisector of it.

L»’;ﬁwu?nyww,p;u,/ébﬂfﬁ$ﬁf§qv
_gné!:/,:bfz/td)/

Prove that the right bisectors of the sides of a triangle are
concurrent.

<wLn}ﬁﬂwtd;f£CM!£wJ(f§qﬁ

Prove that any point on the bisector of an angle is equidistant

_Lgm,whd,uc.uwgém LI L ﬁ/rwtégn/‘f S é.y.t‘

from its arms.

*0

Prove that parallelograms on equal bases and having the same (or
equal) altitude are equal in area.

Gn/,u/,ui‘,};J@uawmdn?du@tin/,u,m5u54u;x64u4f“£¢4t‘

-

Prove that triangles on the same base and of the same (i.e., equal) | » 5., v £54 2 i Uslispont § (25 &) S 25 e
altitudes are equal in area. ’ : ) _

—d/un/.'/.
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